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QUESTION 1

Which VRFs must be configured on the ASBRs between the two AS\\'es in an Option B Layer-3 VPN solution?
A. The VRFs shared between the two AS\\'es plus one VRF representing each AS.

B. The VRFs shared between the two AS\\'es.

C. The VRFs shared between the two AS\\'es plus one shared VRF.

D. The VRFs do not need to be configured on the ASBRs.

Correct Answer: B

QUESTION 2

What BGP address-families are used between the ASBRs in the different AS\\'es in an IPv4 Option C Layer3 VPN
solution?

A. VPNv4 Unicast Only

B. IPv4 Umcast and VPNv4 Unicast

C. IPv4 Labeled-Unicast only

D. IPv4 Unicast and IPv4 Labeled-Unicast

Correct Answer: D

QUESTION 3

Which command is used to undo a change after issuing a commit command?
A. router# rollback configuration to -1

B. router(config# commit undo

C. router(config)# commit rollback

D. router# rollback configuration last 1

Correct Answer: D

QUESTION 4
Which underlying protocol(s) does LDP utilize to communicate with LDP Peers?

A. UDP and TCP
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B. UDP only
C. LDP uses IP Protocol 646 and does not rely on UDP or TCP
D. TCP only

Correct Answer: A

QUESTION 5

How many times are Layer 3 lookups performed on a packet transiting a CRS or ASR9k router?
A. Three times: in the ingress linecard, the fabric, and the egress linecard

B. Once: in the active RP/RSP

C. Once: in the ingress linecard

D. Twice: in the ingress linecard and again in the egress linecard

Correct Answer: A

Latest 500-230 Dumps 500-230 VCE Dumps 500-230 Exam Questions

Latest 500-230 Dumps | 500-230 VCE Dumps | 500-230 Exam Questions 3/3


https://www.leads4pass.com/500-230.html
https://www.leads4pass.com/500-230.html
https://www.leads4pass.com/500-230.html
http://www.tcpdf.org
https://www.leads4pass.com/500-230.html
https://www.leads4pass.com/500-230.html
https://www.leads4pass.com/500-230.html

